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V. DATA ANALYSIS

pART 1: ESTIMATING 7
able 2.1 below:

1. Record your datain T

Table 2.1 :
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2. Using the measured values of (D) and (C), calculate an estimate of .
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PART 2: DETERMINATION OF DENSITY F 155,

1. Record your measured values of L in Table 2.2 below.

2. Calculate the error, AL, in the average measured length and enter the

result in Table 2.2.
Table 2.2 >
Trial No. Li(cm) (LI—T..-)Z (cm?) LE 7 L@M’Yk« (cm)
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3. Record your measured values of d in Table 2.3 below.

4, Calculate the error, A7, in the average measured diameter and enter

the result in Table 2.3.
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5.. Record your measured value of

error Am and calculate the ratio =% h‘;

Table 2.4
m= 123\ 2]
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Remember: |Am | is the smallest division of the balance used.

6. Calculate p, the density‘of the rod, using the value of =, determined

in part 1, and the measured values of L, Eli, and mass m, determined
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Ghow the details of your calculation.
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8. Order the errors-—g, =il Lt

contribution to the error in p.
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= 8.3 g/cm?. Your measured value

9. The accepted value of p is: Paccepted

is in the range [5 —Ap, 5+A’]5]. IS Paccepted Within the range?
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10. Justify your answer in step 9.
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